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QID : 801 - In the following question, select the related word pair from the given alternatives.
Table : Wood::2:?

oo uy & fow e fowed & & Tl wsg g &1 gful

Options:

1) Rubber : Latex

R

2) Wheat : Crop

g : B

3) Paper : Write

BT ; fera

4) Rubber : Erase

98 : e

Correct Answer: Rubber : Latex
S :

Candidate Answer: Rubber : Latex
9 : dead

QID : 802 - In the following question, select the related word pair from the given alternatives.
Mustard: Crop::?:?

Froforiad uy & fow e fawedt & & Tl wsg g &1 gful

Options:
1) Table : Wood
o

2) Pen : Stationery

FHAH : TG AU

3) Bottle : Water

EIGRIC

4) Tyre : Tube

ufedr : e

Correct Answer: Pen : Stationery
FHAH ; T AT

Candidate Answer: Table : Wood

o9 : ddal

QID : 803 - In the following question, select the related word from the given alternatives.
Cycle : Wheels : : Notebook : ?

oo vy # faw e fowed! & @ H&id wsg &1 gful

argfea : ufgd : : w1dt : 2

Options:

1) Write

2) Writer

[§iCET

3) Pages

=

4) Bind

7

Correct Answer: Pages

=

Candidate Answer: Pages

@
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QID : 804 - In the following question, select the related letters from the given alternatives.
MORN : HKMJ : : LOAD : ?
Fafafed uy # fau e f9wedl # 9 Tl sreri o gHu

MORN : HKMJ : : LOAD : ?

Options:
1) XHAK

2) GKVZ
3) HICY

4) CIvz
Correct Answer: GKVZ
Candidate Answer: HICY

QID : 805 - In the following question, select the related letters from the given alternatives.
TIN:PKV::MNT:?

frafafted uy & fow TU fawedl & 9 99 sieri &t 9wl

TIN:PKV::MNT:?

Options:

1) FSB

2) VPO

3) HOA

4) CTS
Correct Answer: VPO
Candidate Answer: VPO

QID : 806 - In the following question, select the related letters from the given alternatives.
OS:RV::AK:?

Frafoied uy & fow e fowedt & @ el sl &1 gl

OS:RV::AK:?

Options:

1) PD

2) DN

3)ON

4) AD
Correct Answer: DN
Candidate Answer: DN

QID : 807 - In the following question, select the related number from the given alternatives.
34:119::46:7?

froforiaa uy & fow e et & & wEfa e & giul

34:119::46:7?

Options:

1) 169

2) 158

3) 161

4) 222
Correct Answer: 161
Candidate Answer: [ NOT ANSWERED ]

QID : 808 - In the following question, select the related number from the given alternatives.
13:167::15:?
frafafed uy & fau 7u fiwedl # ¥ defa @ &1 gful

13:167::15:?
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Options:
1) 297

2) 223
3) 242

4) 344
Correct Answer: 223
Candidate Answer: 223

QID : 809 - In the following question, select the related number from the given alternatives.
23:47::43:7?

oo uy & fow e et & & &l e @ gful

23:47::43:?

Options:
1) 93

2) 67
3)84

4) 54
Correct Answer: 67
Candidate Answer: 67

QID : 810 - In the following question, select the odd word from the given alternatives.

fafafad oy & fou e fawed & 9 faww wrsg &1 gFul
Options:
1) Chair

2) Sofa
HIwT

3) Bench
CEl

4) Pen
DelH

Correct Answer: Pen
Eaet

Candidate Answer: Pen
G

QID : 811 - In the following question, select the odd word from the given alternatives.

frafafed uy o fow 7 el § ¥ fawm Wsg &1 gi-u
Options:

1) Red

SIS

2) Pink

3) Pencil
4) Yellow
Cil

Correct Answer: Pencil

(;andidate Answer: Pencil

QID : 812 - In the following question, select the odd word from the given alternatives.

fufafad uy & fiou e fawedl & 9 faww wrsg &1 gful
Options:

1) Pen

Easpl

2) Pencil

R

3) Rubber
S

4) Sketch pen
quf gt

Correct Answer: Rubber
Fg

Candidate Answer: Rubber
S
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QID : 813 - In the following question, select the odd letters from the given alternatives.

oo vy & 3w e fiwedt & @ faw siert & gful
Options:

1) DZVR

2) GCYU

3) QMIF

4) RNJF

Correct Answer: QMIF

Candidate Answer: QMIF

QID : 814 - In the following question, select the odd letters from the given alternatives.

fafefad oy o U e fawedt o ¥ faww sieri & gful
Options:

1) VvCIQ

2) RYFM

3) CIQX

4) SZGM

Correct Answer: SZGM

Candidate Answer: SZGM

QID : 815 - In the following question, select the odd letters from the given alternatives.

fafaRad oy & U U fawedl & 9 fawm oieri &1 gHul
Options:

1) ROL

2) WTQ

3) XUR

4) GCZ

Correct Answer: GCZ

Candidate Answer: GCZ

QID : 816 - In the following question, select the odd number from the given alternatives.

fafafad uy & U U fawed & 9 favm Wen &1 gfu)
Options:

1)9-27

2)15-43

3)12-36

4)6-18

Correct Answer: 15 -43

Candidate Answer: 15 — 43

QID : 817 - In the following question, select the odd number from the given alternatives.

Frfoiad uy # faw e faeedt # @ favw Sem &1 ghul
Options:

1) 268 - 16

2) 246 — 12

3) 357 -15

4) 579 -23

Correct Answer: 579 — 23

Candidate Answer: 579 — 23

QID : 818 - In the following question, select the odd number pair from the given alternatives.

Fafafed uy # fau e f9wedl § 4 fawm S g &1 gl
Options:

1) 11-66

2)13-78

3)18-118

4)29-174

Correct Answer: 18 — 118

Candidate Answer: 18 — 118


SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


QID : 819 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Muted
2. Mystic
3. Mutual
4. Mutiny
5. Myth

Fafafed Weal 31 UG H o aTd HH & IR o |

1. Muted
2. Mystic
3. Mutual
4. Mutiny
5. Myth
Options:
1) 41325

2) 14325
3) 43152

4) 34152
Correct Answer: 14325
Candidate Answer: 14325

QID : 820 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Lucid

2. Lunge

3. Lucrative
4. Lurch

5. Loyalty

fAfRad <sal 3T Asad I T 3 I HH & SIUR g |

1. Lucid

2. Lunge

3. Lucrative
4. Lurch

5. Loyalty
Options:

1) 51324

2) 15243
3) 15234

4) 51234
Correct Answer: 51324
Candidate Answer: 51324

QID : 821 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Heinous
2. Heavy
3. Herted
4. Heaven

5. Hefty
fAfRad Tsal &I Usad I T S I HH & SIER o |

1. Heinous
2. Heavy
3. Herted
4. Heaven
5. Hefty
Options:
1) 15243

2) 54321
3) 42513

4) 43251
Correct Answer: 42513
Candidate Answer: 42513
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QID : 822 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
CR, FT, 1V, LX, ?
T fehH a7 B, R @ ueb Ue g 81 fiu e st & ¥ 98 W) faseu gL, St 3igshH B [ B

CR, FT, 1V, LX, ?
Options:
1) RV

2) LN
3)0z

4) QA
Correct Answer: OZ
Candidate Answer: OZ

QID : 823 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
PULD, SWOF, VYRH, YAU]J, ?

T 3gehd foar mar B, o ¥ ue U gw B 3 T fawedt § 9 ag wet fawen g, S o d & |

PULD, SWOF, VYRH, YAUJ, ?
Options:
1) BCXL

2) XALM
3) XLKC

4) DEXL
Correct Answer: BCXL
Candidate Answer: BCXL

QID : 824 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FAT, MHA, TOH, ?
T 3gshd fear 1 &, ford ¥ Ue U g 71 3 T fiwedt # 9 98 uel fawed e, S o d 3 TR

FAT, MHA, TOH, ?
Options:

1) ZCX

2) ANP

3) AVO

4) AKP
Correct Answer: AVO
Candidate Answer: AVO

QID : 825 - In the following question, select the missing number from the given alternatives
51,11, 62,73,135,?
frafafed uy & fow T fiwed § ¥ g 8id 1d Sif

51,11, 62,73,135,?
Options:

1) 208

2) 216

3) 323

4) 223

Correct Answer: 208
Candidate Answer: 208

QID : 826 - In the following question, select the missing number from the given alternatives
46, 46, 69, 138, 345, ?
frafafed uy & fau 7 fieedl # ¥ g sid 1d Sife

46, 46, 69, 138, 345, ?
Options:

1) 1035

2) 895

3) 763

4) 640

Correct Answer: 1035
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Candidate Answer: 1035

QID : 827 - In the following question, select the missing humber from the given alternatives
132, 475, 987, 1716, 2716, ?
frafafed uy & fow 7 fAwed # ¥ g 8id 1d Sifm

132, 475, 987, 1716, 2716, ?
Options:

1) 3987

2) 4047

3) 3723

4) 4345

Correct Answer: 4047
Candidate Answer: [ NOT ANSWERED ]

QID : 828 - Ais taller than B, Cis taller than E, D is taller than A and C is shorter than D. Who is the tallest?

ABISIAR, CEFSHIE, DAY ST 3ARC, DA Bler gl HF Jod S 82
Options:

1)A

2)D

3)B

4)E
Correct Answer: D
Candidate Answer: D

QID : 829 - W introduced herself to U by saying that you are the daughter-in-law of my husband's father's wife. How are U and W related to each other?

W U % W99 &1 URad 3d gU el [ g7 IR ufd & a1 &t uelt &1 98 811 U 99T W T giR 3 fryg avg Teifda 82
Options:

1) U is W's husband's brother's wife

U Waaldds

2) U is W's husband's sister

UWFHTd Pt agT e

3) W is U's husband's sister

W, U Ofd &1 9 8

4) W is U's brother's wife

W, UF TS &1 Udt §

Correct Answer: U is W's husband's brother's wife

U, W& Ui & WTE 3 Ual §

Candidate Answer: [ NOT ANSWERED ]

QID : 830 - From the given alternative words select the word which cannot be formed using the letters of the given word.
COSMONAUT

frafafad fowedl § ¥ a8 Weg gY o U T XMeg & 31&RT 1 WA S gl a1 o Favdl:

COSMONAUT
Options:
1) coast

2) scant
3) tacos

4) sauce
Correct Answer: sauce
Candidate Answer: sauce

QID : 831 - If CAPITOL is coded as XZKRGLO, then how will VET be coded as?

Ife CAPITOL &) BIs H XZKRGLO fora &raT § o VET &) dis # o1 forgie
Options:
1) XGV

2) UDS
3) WFU

4) EVG
Correct Answer: EVG
Candidate Answer: EVG
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QID : 832 - In a certain code language, 8135 means 'bark of the tree', 4368 means 'the tall xmas tree' and 9128 means 'the dog bark loud'. Find the code for 'bark'.

foradt fRfyra s Tom & 8135 7 372 § 'bark of the tree', 4368 T 31 § 'the tall xmas tree' 3 9128 BT 312 & 'the dog bark loud'| 'bark' % 1T Hs F1d HI |
Options:
1)5

2)8
3)3

4)1
Correct Answer: 1
Candidate Answer: 1

QID : 833 - In a certain code language, '+' represents "', '-' represents X', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.
128 -125x100 + 144 - 12=7?
et Ay s uw & '+, - Bl ueRia FRar g, -, x & veRfd srar g, v, '+' & UeRid axar § 8k '+, '+ &1 uelRia srar 31 Fafifad uy o1 3Ww 31d B2

128 -125x100 + 144 - 12 =7?
Options:

1)-12

2)72

3) 28

4)-73

Correct Answer: 28

Candidate Answer: 28

QID:834-1If 10x 1 =18, 50 x 40 = 20 and 3 x 2 = 2, then find the value of 10 x5 = ?

g 10x 1= 18,50 x40 = 20 MR 3x 2 = 2, A 10 x 5 = ? BT HH J1d PY?
Options:

1) 10

2)5

3)15

4) 50

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED ]

QID : 835 - If A$ B means A is son of B, A # B means A is brother of B and If A * B means A is father of B, then what does X $ Y # Z * W mean?

TEA$BH SR A, BF TG, A# BB H A BHIUS TR ARA*BHT S fH A, BHTRAIAX$ Y # 2 * W 1 3 37 g2
Options:

1) X'is son of son of W

X, WF GT HT T §

2) X is father of W

X, W T fore 8

3) Xis son of W

X, W &G §

4) X is son of W's father's brother

X, W a1 uE ST §

Correct Answer: X is son of W's father's brother

X, W s uE sy g

Candidate Answer: X is son of W's father's brother

X, WFRar s v F1ga g
QID : 836 -

Select the missing number from the given responses

e o frepedlt & < qw W g

- |00 | N
w
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Options:
1) 10

2)8
3)-6

4)6
Correct Answer: -6
Candidate Answer: -6

QID : 837 - Which of the following terms follows the trend of the given list?
XXXXX00, OXXXXXO0, XOXXXXO0, XXOXXX0, XXXOXXO,
frafafed & 9 o1 @1 ug < i g & 1 & oER 72

XXXXX00, OXXXXXO0, XOXXXX0, XXOXXXO0, XXXOXXO,

Options:
1) XXXXX0O0

2) XXXOXOX
3) XXOXOXO

4) XXXXOX0
Correct Answer: XXXXOXO
Candidate Answer: XXXXOXO

QID : 838 - A trekker walks 3 km East, then he turns South and walks for 2 km, then he turns West and walks for 8 km, then he turns to his right and walks for 2
km. Where is he now with respect to his starting position?

TH T 3 fhaieiex qd @1 3R TIaar & a1 O a8 <fém &1 ok geaw 2 frdiHieR o 71 fR a8 ufdm 3t ¢ik ggar 3 8iR 8 fhdiieR aadr 81 f a8 st
IR &R qeav 2 fbaiTiex e Terar 81 TRfie UMY F 3 It fRufy a1 82

Options:

1) 5 km East

5

2) 5 km West

5

3) 11 km West

11 foreieR ufgm
4) 11 km East

11

Correct Answer: 5 km West

5 forandier ufdm

Candidate Answer: 5 km West
5

QID : 839 - Two village women start from the same well. The first woman walks 5 km East, then turns to her right and walks 8 km to reach her house. In the
meanwhile the second woman walks 7 km South, then she turns West and walks 3 km, then she turns to her left and walks 1 km to reach her house. Where is the
second woman's house with respect to the first woman's house?

3 T SR U € HU ¥ T URH B o1 gl Aiger 5 fbdiHiex gd Bt 3R Tl & JuT o <1 3iR JSohe 8 fhaimiier gaex 3t TR gl 71 39 g9g
T oiRd 7 fordidieR afdor ot 3R Trerdt B ok fohR uftm &t 3R geax 3 fraiiey gadt § auT fhR oot aTE iR geax 1 fratiier gaaw ov TR ugadt 31 ugeh
HEE & R & e A g AfRe &1 W Hei 82

Options:

1) 8 km East

8

2) 2 km West

2

3) 2 km East

2

4) 8 km West

8

Correct Answer: 8 km West

8

Candidate Answer: 8 km East
8
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QID : 840 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All flowers are paper
Statement II: Some flowers are organic

Conclusion I: Some paper is organic
Conclusion II: All organic is paper

7y T & oy o8 T § e o € s 1 8iR 11 AeTd T 1 St AT § b M Y I | TR 98 I d: I1d audl ¥ e uetd g 81 3ol fAufa e
? o1 fou 7 e # @ oF-T/eH-8 ¥ 0 ¥ S gR1 I8! e S Ihdr 3/9%4 8, afe B 81

Y I: 9l Bl BRI &
HYT II: $B Bl SHAD &

e 1: 3o B 8fffif® §

e 11: bt offiive BT &

Options:

1) Only conclusion I follows

Sad ey 191 &

2) Only conclusion II follows

Fad ey 11 T8t §

3) Both conclusions I and II follow

& e 1 ofR 11 et @

4) Neither conclusion I nor conclusion II follows

1 d A 1 98} ® 1 € s 11

Correct Answer: Only conclusion I follows

Fad ey 1 981 2

Candidate Answer: Only conclusion I follows

Fad ey 1 TE §

QID : 841 - In the question three statements are given, followed by three conclusions, I, IT and III. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All Highways are lanes
Statement II: Some streets are highways
Statement III: All streets are expressways

Conclusion I: Some expressways are lanes
Conclusion II: Some lanes are streets
Conclusion III: Some expressways are highways

Uy 7 i puT o3 ) § Rrge om) 9 s 1, 11 3R 111 FepTel T €1 3i10eh! H=T 2 6 il e I § <1 98 rrad: T1d 9t ¥ et ucfia g 811 eimuey fRfg
B ® BT T T Aol & § SH-a1/ -3 FHiEd T § HUF gRT T8 Rebre S Tebdl 3/9%4 €, A 1S 81

HYT I: T B3 A9 ©
PYF II: $© TSD gled §
FUF II1: ) IS Taiad §

ey I: 5o Toia O §
e 11: 5 a9 TsH §

e 111: % Tead FEa €
Options:

1) Only conclusions I and II follow
Fad ey 1 3R 11 96 §

2) Only conclusions II and III follow
Sad ey 11 3R 111 T &

3) Only conclusions I and III follow
Faq ey 1 8IR 111 961 §

4) All conclusions I, II and III follow
AT Fepe 1, 17 STR 111 WET

Correct Answer: All conclusions I, IT and III follow

I sy 1, 17 SR 11 TE

Candidate Answer: All conclusions I, II and III follow

A Frseef 1, 11 3R 111 O ®
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QID: 842 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

frefoRae ST armefer 3 & i a1 o fau v oy
3TTPIT = ot & A ST Te| ST AbcT?

O
@Xo.o:’i
¥

Options:
1)

N

w

)

) &) D

Correct Answer:

B

Candidate Answer: [ NOT ANSWERED ]
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QID : 843 -

Which of the following answer figure patterns
can be combined to make the question figure?

fFrefeRad IR rgpfer 4 & i A Hicraul B
SRS fU T T STTTT T FTT T Faell 87

Options:

1)

2)

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

QID : 844 -
In the following figure, square represents
Teachers,triangle represents swimmers,
circle represents Nurses and rectangle
represents Women. Which set of letters
represents Teachers who are either
swimmers or nurses?

frreaferfiae forr F o, Rrsret o1 mefifer o &,

forgat el @t wefifa @ 2, g 6T o Hafia awar
& oI T SfReTelT ST Hefiia Fwar &) JeRi @ ST
o7 R I el $t nefia wwar 2 o an dr ke
Ear i Er
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Options:
1) HF

2) BFED
3) GIE

4) CBA

Correct Answer: GIE
Candidate Answer: GIE
QID: 845 -

Which of the following Venn diagrams represents the
relationship between Lions, Deers and Carnivores ?

fFreferRae & O B a7 39 fE 9T, AT afik arrerRar
& ST G STAT &?

Options:

=0

©

2)

3)

2

©@0O OF

Correct Answer:

©0O

Candidate Answer:

e
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QID : 846 -

Which answer figure will complete the pattern in the
question figure?

iR & & s Iav anopfer ay el & uftey
T ORT HNT?

—

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:
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QID : 847 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

&1 it SR Srforit & 39 srapfy T AT o e
e e 21

il

Options:
1)

7N
N/

2)

3)

4)

Correct Answer:

Candidate Answer:
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QID : 848 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

T TP 7 faTT SR HITST Y AShR I
VG PR AT Gl & 1S I8 fobey IR JThier ST
fera <

2)

3)

4)

Correct Answer:

TS

/4 OOO b

S
O p

Candidate Answer:

& AN
> O
bOO 006

O
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QID : 849 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

AT Tep gUUT T MN T 0 3T SI1Y ol & RiT 3)
3TTepferat 5 F HI-HT SATPfer wH 3TpIeT BT G
mfeifawr 2rfi?

Options:
1)

@

A

2)

N
AN
3)
N
AN
a)
P
%)
N

N

Candidate Answer:

O

N
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QID : 850 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-l are numbered from 0 to 4 and that of Matrix-|
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example 'B' can be represented by
43, 31 etc and "X’ can be represented by 76, 96 etc. Similarly, you have to
identify the set for the word 'KEPT".

e 976 dhefeT G AT SIRT Sfar T &, S fo feaemedt f 9 feft e #
ez araw 21 e} Ry ¢ weam-we a1 & <) el gwr 2ufe e €, S e
e 7T & Sreget # &1 a1meE-| & TP SR Hfh T EE 0 9 4 3 el #T 5
¥ g & o =T & U 18R @7 Ugol IHET URR iR 912 ¥ T der arT gufar
T Tepell B1 SSERT 6 {0 B BT 43, 31 3N GRT ST 7 Tebal & 20T 'X &1
76, 96 311 TRT SuATar T wadT &1 gt e W angw! wa o AU e KEPT %
fore s @t wEETT A1

Matrix | 3E- Matricll A

0 1 2 F] 4 5 6 7 | 8 ]
i [l D A L E B % P % % W
1 E H A c K [ R u R % u
] G M C | H 7 T % % 5 W
3 C B 4] E J 8 W R " Fi W
4 1 [ K B M 4 Q X e L T

Options:

1) 01,56,89,43
2) 41,01,78,88
3) 42,58,02,56

4) 14,10,56,99
Correct Answer: 14,10,56,99
Candidate Answer: 42,58,02,56

QID : 851 - Bull' and 'Bear' are associated with which of the following commercial activities?

gor 3R R g afdioues nfafafd @ e a1y 9 gu &2
Options:

1) Banking

CiEal

2) Share Market
TR TER
3) Corporate Tax
TORT I
4) Agro-market
DY TR
Correct Answer: Share Market

R TER

Candidate Answer: Share Market
R TER

QID : 852 - What is the meaning of 'Take off stage' in an economy?

srfaraR § 7 3 wor BT 7 aref g2
Options:
1) Stage of growth
P AR
2) Stage of stagnant
RRA & WU
3) Stage of collapse
e & o
4) Stage of diminish
HHl BT IR
Correct Answer: Stage of growth

o &t TROT

Candidate Answer: Stage of growth
BT TR

QID : 853 - Who has been appointed as the Chairman of 15t Finance Commission?

15-3F 3T SIRiT & Sremer & w0 H b e o T @2
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Options:
1) Vijay Kelkar
foaorr e

2) Arbind Pangarhia
eRfdg grmfean

3) NK Singh’

T & Rig

4) C Rangrajan

GIRUNEES

Correct Answer: N K Singh
T Rig

Candidate Answer: N K Singh
& Rig

QID : 854 - Which of the following forms the largest share of deficit in budget of India?

YR P golc § 9 § T B I71 91¢ &1 Jod g7 fow 82
Options:
1) Current deficit
EISRIE)
2) Revenue deficit
RTd "1t
3) Fiscal deficit
I
4) No option is correct.
I fihed 8! T R,
Correct Answer: Fiscal deficit
Il

Candidate Answer: Fiscal deficit
LI

QID : 855 - Which one among the following is not a component of fiscal policy?

frafefaa & @ &9 91 I =iy &1 ges T8 72
Options:
1) Public expenditure
WHR T
2) Public debts
B
3) Taxation
DY
4) Trade
HMUR

Correct Answer: Trade
IR

Candidate Answer: [ NOT ANSWERED ]

QID : 856 - When was the name of Madras State changed in Tamil Nadu?

TGN YT &1 1 qHarg § &4 dgal T
Options:

1) 1956

2) 1968

3) 1969

4) 1967

Correct Answer: 1969

Candidate Answer: [ NOT ANSWERED ]

QID : 857 - Who among the following had the shortest tenure as Indian President?

Frofared & 3 e wod o0 w9 & T WRd & A9ud & w9 3 F1 fear ar
Options:

1) Shankar Dayal Sharma
TR &I Xl

2) Pranab Mukherjee

qurd

3) Pratibha Patil

glawr arfed

4) Dr Zakir Hussain

S e g8

Correct Answer: Dr Zakir Hussain
SISIE

Candidate Answer: Dr Zakir Hussain
BT SR g8
QID : 858 - Which of the following was elected unopposed as the President of India?

fFrafifed # @ oH 4Ra & Igufd F w0 § ARy e
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Options:

1) Dr Rajendra Prasad
SIRIEERAIC

2) Neelam Sanjiva Reddy
e Tl ¥g!

3) Gyani Jgil Singh
I+ o Rig

4) Pratibha Patil
gferyT Ui

Correct Answer: Neelam Sanjiva Reddy
Hiew Tshta Y8t
Candidate Answer: Neelam Sanjiva Reddy

Herm gofa X
QID : 859 - Which Schedule of the Indian Constitution is related to the languages of India?

YR T3 &t oA B gt YR @t yrwrelt I Wefdd 82
Options:

1) 7t schedule

7-df St

2) 8t schedule

8-t Srgeget

3) 9t schedule

9-dF st

4) 10t schedule

10-dT 7=t

Correct Answer: 8™ schedule
g-at

Candidate Answer: 7 schedule
7-f Srgeet

QID : 860 - In the Constitution of India, promotion of international peace and security is mentioned in which of the following parts?

YRA & Y™ & forg wm & siaRigia wifa ofik gran &1 serar &1 aftfa foar mar &2
Options:

1) Fundamental Rights

it SifeR

2) Preamble

ISRSICEI

3) Directive Principles of State

I R Free Rt

4) None of these

T @ PIE el

Correct Answer: Directive Principles of State

I & Hifa Fwe figia

Candidate Answer: Directive Principles of State

I & Hifa Fdwe g

QID : 861 - Buddhism was divided into Mahayana and Hinayana during the reign of which of the following rulers?

g o AT SR S & 5 WS & REAHTe & SR [aHIfSTd gafT ur?
Options:
1) Kanishka

2) Chandragupta II

EEVSAEGI]
3) Ashoka
3MH

4) None of these
T8 A P T

Correct Answer: Kanishka

Candidate Answer: Ashoka

QID : 862 - Which of the following Harappan sites is thought to have direct sea trade links with Mesopotamia?

fofafea 7 ¥ 59 s $x & IR & 71 91T § b Aiaeriivr & 9y Wt 9 SR U
Options:

1) Dholavira

AR

2) Lothal
qyd

3) Kot Diji
Pic fosit

4) Ropar
AU

Correct Answer: Lothal

NIUE
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Candidate Answer: [ NOT ANSWERED ]

QID : 863 - Which of the following Sultans of the Sultanate of Delhi transferred his capital from Delhi to Agra?

el Head & ford Gea A U i faeeht & oRT | gRdiand @i &
Options:
1) Sikandar Lodi

2) Qutbuddin Aibak
3) Alauddin Khilji
SATSE Raerol!

4) Muhammad Bin Tughlaq
Higwg fod gree

Correct Answer: Sikandar Lodi

Candidate Answer: [ NOT ANSWERED ]

QID : 864 - Who was elected the Congress president after the end of the Tripuri crisis?

g8 e ot Tt & S1G SN &1 sHeel ford g mam?
Options:

1) Pattabhi Sitaramayya

TeTy Sardar

2) Sardar Vallabhbhai Patel

TER TEHHTS T

3) Dr. Rajendra Prasad

SRS

4) Abul Kalam Azad

3 hH TSl

Correct Answer: Dr. Rajendra Prasad
SIS

Candidate Answer: Dr. Rajendra Prasad

ST, I G
QID : 865 - Which of the following chaired first Round Table Conference?

fafaRad & ¥ foam ugd Mass 9aiad &1 sfeerdr o d?
Options:
1) CI.ement Attlee

2) Winston Churchill
e afda

3) Stanley Baldwin
T

4) Ramsay Macdonald
I Ah SIS
Correct Answer: Ramsay Macdonald

Candidate Answer: Ramsay Macdonald

QID : 866 - The Buxa Tiger Reserve is located in which of the following states?

a1 TrgTR Rerd Fafoiad & @ foarg oa o fRud 82
Options:

1) Assam

3HIH

2) Odisha

Sfife=m

3) West Bengal
uigw Se

4) Jharkhand
IRES

Correct Answer: West Bengal
ufgw Se

Candidate Answer: [ NOT ANSWERED ]

QID : 867 - Which of the following is the largest mangrove forest not only in India but in the world?

frofafaa # ¥ B9 91 7 Haa YR & sfes g & Ieu 981 H209 SFTd 82
Options:
1) Sundarbans

gaxad
2) Coringa East

3) Muthupet
TYue

4) Malvan
BINCET
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Correct Answer: Sundarbans

axad

Candidate Answer: Sundarbans

gaad

QID : 868 - Which of the following terms is used in India for a tract of land lying between two confluent rivers?

URd B g & § 59 ug &1 s & et & ot a7t yfy F fore fovan i g2
Options:

1) Valley

et

2) Plateau

JoR

3) Doab

A

4) None of these
TIPS T
Correct Answer: Doab
A

Candidate Answer: Doab
AR

QID : 869 - The Nagarjuna Sagar project is constructed on the which of the following rivers?

TR IRR Rk e Afeat & @ i w fAfifa g2
Options:
1) Sutlej

2) Jhelam
3) Narmada

4) Krishna
Eauull

Correct Answer: Krishna

P

Candidate Answer: Krishna

F

QID : 870 - Which of the following is the largest producer of cardamom in India?

URT & 3ol o7 T T87 IAEH AT B 82
Options:
1) Karnataka

2) Kerala
A

3) Sikkim
ey

4) Tamil Nadu

Correct Answer: Kerala

Candidate Answer: [ NOT ANSWERED ]

QID : 871 - Which of the following schemes was launched by Bihar Government for checking crimes against women?

afgemsit & RIAs SroRTel @t g & fore fagR WeR gR1 Fufafed aemret & I &F 91 = oo a7 ur
Options:

1) Women Safety Surveillance Scheme

Tfear gRem AR A

2) Women Safe City Scheme

HigeT YRI&A 2GR GrofHl

3) City Surveillance Scheme for Women

Aigenail & g ex R ArerHT

4) Safe City Surveillance Scheme

IRfgra R FRE demn

Correct Answer: Safe City Surveillance Scheme

TRiga Rt FRER aeen
Candidate Answer: Women Safety Surveillance Scheme

Tfgar QRem R de

QID : 872 - Which of the following state government launched ‘Prakash hai to Vikas hai’ Scheme, a free household power connection scheme for the poor in the
state?

Frofeiad o 9 fram woa ° e ¥ T ve g R e saeR aen T 7, @ e 3 3 e 31 82
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Options:

1) Jharkhand
RIS

2) Assam

3HIH

3) Uttar Pradesh
JR U

4) Madhya Pradesh
e Je

Correct Answer: Uttar Pradesh
JWR U

Candidate Answer: Uttar Pradesh
JIWR IS

QID : 873 - When will the International Chinese New Year start in year 2018?

ieRfgT i+t 7@ 9 2018 & F9 A TF BT
Options:

1) 16 January 2018

16 SFIaRT 2018

2) 16 February 2018

16 WAl 2018

3) 16 March 2018

16 A4 2018

4) None of these

TIPS T

Correct Answer: 16 February 2018
16 BRI 2018

Candidate Answer: [ NOT ANSWERED ]

QID : 874 - Which of the following cities will be host Commonwealth Games 2022?

T Y B 1 R IAPHST WA-2022 1 AW B2
Options:

1) Glasgow

A

2) Delhi
3) Birmingham
gitfem

4) Durban
ISRCE]

Correct Answer: Birmingham

Candidate Answer: Birmingham

QID : 875 - Australia beat which of the following countries 2-1 in the final of the Hockey World League on December 10, 2017?

10 faaR, 2017 &1 giob! acs TN & BIg-d H Sfieeferdr = FF § F g 2 &1 2-1 Y WRIford fawar?
Options:

1) India

URd

2) Argentina

SFT

3) England

4) Pakistan

BlEaSIE]

Correct Answer: Argentina

Candidate Answer: [ NOT ANSWERED ]

QID : 876 - "I Witness : Partial Observation” is written by .

“3S ey : Uik sfeeRagH” ERT foredt TS 7
Options:

1) Mark Tully

AT Tt

2) Rajmohan Gandhi
orHIe e
3) Poonam Suri

g
4) Kapil Sibal
Fiva Raa

Correct Answer: Kapil Sibal

CIRARCK]
Candidate Answer: [ NOT ANSWERED ]
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QID : 877 - Which former Prime Minister of India has been selected for Indira Gandhi Prize for Peace, Disarmament and Development in 2017?

HRT & 5 Yqd ver o1 iR el wifdy, FRediieosor qut e R, 2017 % forg safia far mar 82
Options:
1) L. K. Gujral

2) H. D. Deve Gowda
ta. & g e

3) Atal Bihari Vajpayee
3fcd fagRt It

4) Manmohan Singh

Correct Answer: Manmohan Singh

Candidate Answer: Manmohan Singh

QID : 878 - In which city the first ever Asia-Pacific Broadcasting Union Dance festival was concluded in January, 2017?

o 6”& o Ugen URMI-yRid SigHT GG T Heldd Siasl, 2017 @) 0w gail U1
Options:
1) Madurai

2) Thiruvananthapuram
3) Kochi
DI

4) Hyderabad
Correct Answer: Hyderabad

Candidate Answer: [ NOT ANSWERED ]

QID : 879 - Which country has allowed India to ferry Haj pilgrims via sea route?

9 =1 Y URA & g At o) wgg On gR1 T S @) oAl < 82
Options:

1) Saudi Arabia

T3 3RS

2) Iran

3) Iraq
ERED
4) Israel

ESNEN
Correct Answer: Saudi Arabia
SR

Candidate Answer: [ NOT ANSWERED ]

QID : 880 - In January 2017, India signed a Memorandum of Understanding to construct 3000 rain water harvesting system with which country?

SR 2017 H YRA 3 {59 321 & W1 3000 a6 S Jea UGl 3 ol T THeiar I0- &R gxder foar g2
Options:

1) Bangladesh

ELLSICR

2) Nepal

B

3) Bhutan

Y

4) Sri Lanka

oficiepT

C0|_-rect Answer: Sri Lanka

Candidate Answer: [ NOT ANSWERED ]

QID : 881 - Which among the following is/are storage deivce/devices used in computers?

Fofofad & ¥ S1F 9/ Fogex T ST 8F a1 IUE JUSRU /82
Options:

1) Floppy disk

T fewm

2) Hard disk
3) Punched tape
fBfaa cu

4) All options are correct.
Tt faspew O €1

Correct Answer: All options are correct.

Tt ey Tt B
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Candidate Answer: All options are correct.

Tt fapey W& B

QID : 882 - The computers and computers networks exchange information using to communicate with each other.
HILER IUT FIER Fedd MUY H YR FRA & faw BT TN BB AT BT HEGH-YEGH R &

Options:

1) Server

2) Transmission Control Protocol

X X

3) Digital Network
fefred Aeads

4) World Wide Web
IS 1SS 99
Correct Answer: Transmission Control Protocol

X X

Candidate Answer: Server

QID : 883 - Which method is used to protect iron from rusting?

MY I ST PRI T F o o fafdy &1 Iuai fasan s €2
Options:

1) Oxidation

SEERE]

2) Galvanisation

TG AU

3) Vulcanisation

4) Reduction

U

Correct Answer: Galvanisation
IR AT

Candidate Answer: Galvanisation
TE AU

QID : 884 - Brass is an alloy of which of the following metals?

Haa Fafafad & 3 fa argell &1 e g 82
Options:

1) Copper and mercury

ATaT a1 URT

2) Copper and zinc

GIEIGRIESES]

3) Copper and nickel

areT qur

4) Copper and silver

raT quT 9t

Correct Answer: Copper and zinc
aTeT quT ST

Candidate Answer: Copper and nickel
GIEIGRINEE]

QID : 885 - Which among the following is true about Rayon?

A & gy & Fufafed & 9 o w1 sy a8 82
Options:

1) It is obtained from silk worm

g W $ BIS Y U fobar o 8

2) It is obtained from wood pulp

Ig HTS el I T foa S §

3) It is obtained from both silk worm and wood pulp
Ig XXM & BIS qUT BT GST ST Y UTe o ST 8
4) No option is correct.

PIs [abed WEl el 8

Correct Answer: It is obtained from wood pulp

Ig IS QIS A U b Siren §

Candidate Answer: No option is correct.

FIs fadwed gt Tl B
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QID : 886 - Which of the following are requirements for producing fire?

1. Fuel
II. Air
III. Heat

faffad # @ & § 3mT wam & g sifard sraxgsdrt 82

I 49

II. ag

III. SSAT

Options:

1) Only I'and II

&Had I U 11

2) Only I and III

Had I T 11T

3) Only II and III

Had I1 9T 111

4) All I, 11 and III

I, I1 aur 101 gaft

Correct Answer: All I, IT and III
I, I1 9T 111 9aft

Candidate Answer: All I, II and III
I, I1 aT 111 9aft

QID : 887 - Which of the following lens always forms a virtual, erect and diminished image?

fofofaa & @ o1 1 d9 geg sy, et qur Ster ufafers F9mar 82
Options:

1) Convex

3qd

2) Concave

3{ddd

3) Both convex and concave
IS T 3Fqd ST

4) None of these

T A BI Tol

Correct Answer: Concave
3{dddl

Candidate Answer: Convex
3dd

QID : 888 - What is the direction of magnetic field lines in a magnet?

a0 & JIig & el @ = o el /2
Options:
1) East pole to West pole

gl ya ¥ ufEe @
2) West pole to East pole

uf3e 4a ¥ gdif ya

3) North pole to South pole

IR yd ¥ el ga

4) South pole to North pole

gl ga ¥ I ya

Correct Answer: North pole to South pole
IR ¢a § aferoh ya

Candidate Answer: North pole to South pole

I ¢a I afarol g

QID : 889 - Which of following property of a proton cannot change while it moves freely in magnetic field?

foraft et &1 Fafofad # § & a1 7o fpft Jeela & & gaa 7ifa &= g9 uRafdd et grare
Options:

1) Speed

T

2) Velocity

T

3) Momentum

4) Both speed and velocity
T T A7 g

Correct Answer: Speed

Qandidate Answer: Momentum

QID : 890 - Stethoscope works on which principle?
RYTIT oy Rigid R o1 dear 82
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Options:

1) Conversion of current into sound
YRT &1 @G T =GRl

2) Conversion of sound into current
@G BT YRT H TR0

3) Reflection of sound

i B

4) Reflection of light

TBTRI BT TRI

Correct Answer: Reflection of sound

A BT WRIadA

Candidate Answer: Reflection of sound

afy BT WIad

QID : 891 - Which vitamin is made at a higher rate in our body?

B 91 faeri s9R RR # dig X ¥ §9a1 82
Options:
1) Vitamin A
et A
2) Vitamin B
B
3) Vitamin C
et
4) Vitamin D
D
Correct Answer: Vitamin D
fqerffm D

Candidate Answer: Vitamin B
B

QID:892-
Match the items given in column (A) with those in
column (B).

Column - A Column-B
I. Diaphragm 1. Lungs and skin
Il. Fish 2. Chest cavity
lll. Frog 3. Spiracles
IV. Cockroach 4. Gills

=9 (F) F I 7 =gl & T (@) F Y
e fifam|

N -& WH -9
|. SHEmEH 1. B%s JWm ==
Il Fol 2. G&T 9T
. Fgw 3. arE I
I\V. iR 4, FoltH
Options:

1) I-2, I1-4, I1I-1, IV-3
2) I-1, II-3, I1I-4, IV-2
3) I-3, I1-4, I11-2, Iv-1

4) 1-1, 11-2, 111-3, IV-4
Correct Answer: 1-2, I1-4, III-1, IV-3
Candidate Answer: [ NOT ANSWERED ]

QID : 893 - Which is the usual reproductive part of a plant?

UISY BT AT S U DI 1 gl 87
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Options:
1) Leaf

2) Stem

£l

3) Root

a

4) ‘Flower

‘8

Correct Answer: Flower

¥

Candidate Answer: Leaf

2

QID : 894 - Which of the following statement is INCORRECT?

fofofaa & @ o1 91 FuT ad T8 82
Options:
1) Hydra have only a sexual reproduction.

BIegl & Had Sl S BT 1

2) Most frogs are an oviparous animals.
91 Aige 3SUWd wig g
3) Budding is not possible in hydra.
BB & gpad Tvd Te 71
4) Internal fertilisation takes place in hens.
iff & siaRes fde= giar 31
Correct Answer: Hydra have only a sexual reproduction.
B12Sl & $ad 3(AfIe o BT 3
Candidate Answer: [ NOT ANSWERED ]

QID : 895 - A person having hypermetropia has to keep a reading material at what distance (in cm) for comfortable reading?

e = W i &) T g & T vew InEht & fhat ® (I F) a1 usan 32
Options:
1) 22

2) 25
3)35

4) 45
Correct Answer: 25
Candidate Answer: 25

QID : 896 - Which of the following disease does NOT spread through the air?

frafafad & @ &1 o1 A7 a1g gRT T e 82
Options:

1) Cough-cold

JiA-gHE

2) Pneumonia

3) tuberculosis
& I
4) Cholera

Correct Answer: Cholera

Candidate Answer: Pneumonia

QID : 897 - Micro-organisms act upon the dead plants to produce

geA-oig gd ureul R % IdTed & forg fobar wva €1
Options:

1) sand

RSN

2) mushrooms
3) humus

Reen

4) wood

D1y

Correct Answer: humus

gUAY
Candidate Answer: [ NOT ANSWERED ]

QID : 898 - A species restricted to a given area is

T U T dre H Wit g Bl
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Options:
1) Endangered species

2) Vulnerable species
3) Endemic species
4) Extinct species
PR
Correct Answer: Endemic species

Candidate Answer: Extinct species

faqw wenfa
QID : 899 - In which year, Special Climate Change Fund was established?

faRiw Srerarg ufvad= ARy forer aef & wnfRre fasam mar are
Options:
1) 1999

2) 2000
3) 2001

4) 2003
Correct Answer: 2001
Candidate Answer: [ NOT ANSWERED ]

QID : 900 - Identify the possible link “X” in the following food chain? Grass — Insect — Frog — X — Eagle

faffad W gaer & "X Bt GUIfad Het B TgaHe? 9 — B - AgH — X — 88
Options:
1) Dog

P
2) Rabbit
|

3) Bird
et

4) Snake
il

Correct Answer: Snake
grq

Candidate Answer: Snake
|rq

QID : 901 - Which property of an electrical conductor opposes the flow of current through it?

9 & 9 B1F O v fagad garde &1 00 § S S9N Faifed g arelt fagad YRT 31 faRly wRet 82
Options:
1) Conductance

Udighw

2) Resistance
PIRR]

3) Reluctance

4) Permeance

Correct Answer: Resistance
gfeRTY

Candidate Answer: Resistance
PIRR]

QID : 902 - Ohm is the S.I unit of ;

M DI THAE TP B

Options:
1) Capacitance

2) Inductance

3) Resistance
Y
4) Conductance
EISETI
Correct Answer: Resistance
ufeRIY
Candidate Answer: Resistance
afeRIY
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QID : 903 - What will be the resistance (in Ohms) of a resistor, when the dissipated power and the current flowing through the resistor is 12 W and 2 A
respectively?

TRt & UfeRIY BT A (3 &) 1 8, 519 fJufed wfea ok ufeRiue & e ¥ fagaq 9RT HAwn: 12 91 3R 2 TRRR 772
Options:

1)6

2) 24

3)2

4)3

Correct Answer: 3

Candidate Answer: 3

QID : 904 - What will be the resistance (in Ohms) of a cylindrical wire, if the length, diameter and the resistivity of the wire is 4 m, 0.2 m and 0.4 Ohms-m
respectively?

TR U SR dR I TS, T 3R IR B UfRILDdl A 4 Hew, 0.2 Hiex 3R 0.4 3ia-fiex B, 4 39 dR &1 ufaRiy (30 o) a1 g
Options:

1) 49

2) 56

3)54

4)51

Correct Answer: 51

Candidate Answer: [ NOT ANSWERED ]

QID : 905 - Which of the following material has the highest resistivity?

u & § 5w verd a9t ufRiuwmar S=aw g1 82
Options:
1) Insulators

2) Conductors
EINCS

3) Semiconductors
3

4) Superconductor

Correct Answer: Insulators

EeINCY

Candidate Answer: Insulators

EEINE

QID : 906 -

What will be the equivalent inductance (in mH} for the circuit
given below?

AT TG0 3T U &l T T Webed (mH #) &1 glam ?

L;=20mH Ly=50mH
[ WWWW WWWWY

a L;=40mH
L,=30mH W S

|

Options:
1) 40

2) 50
3)30

4) 60
Correct Answer: 50
Candidate Answer: 60

QID : 907 - Determine the power (in W) of a lamp of 220 V, when the resistance of the lamp is 100 Ohms.

I T 220 V & T HT URRIY 100 3N B, o IABT W (W ) 71d R
Options:

1) 448

2) 486

3) 484

4) 488

Correct Answer: 484

Candidate Answer: 484
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QID : 908 - What will be the voltage (in V) of a battery connected to a parallel plate capacitor with air as dielectric, having plate area of 6 sq. cm and separation
between the plates is 2 mm, which stores a charge of 8.0 pC on the plates?

TF Sedl U YHIR We T I It 7 fos arg wRidgad 3t @R 8 $iR RreT Wi &1 8% 6 sq. cm 8, Wl & o9 QU 2 mm § R Wel IR Tufed ST
8.0 pC g1 9 Y gt (v H) 1 ghit?

Options:

1)3

2)9

3)6

4)5

Correct Answer: 3

Candidate Answer: 3

QID : 909 -
What will be the value of current 1° (in A) for the given
circurt diagram?

ToieaT afwer & g amr 'l &1 #ed (A #) FTglan?

80
-
A 80
el N % 20

__ 40V
Options:
1)8
2)4
3)2
4)6

Correct Answer: 4
Candidate Answer: 4

QID: 910 -
Find the power delivered {in VW) by the current source in
the circuit diagram given below.

fer=T afioer 31 T §id garT fadid faedd aidd &
HEAHI (W ) Ial ey |

R,=40 R,=80
WVWAAWY WAAMAY
VWY T

S
10A
Options:
1) 300
2) 400
3) 500
4) 600

Correct Answer: 400
Candidate Answer: 400

QID : 911 - Which of the following statement is CORRECT?
e & 3 oF W Fu I 321
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Options:
1) Superposition theorem is applicable to only those circuits that only have active elements.

T ad Wiy T aTel TRUY TR AN &l B
2) Superposition theorem is applicable to only those circuits that only have passive elements.

qd are IRuY R AL ST B

3) Superposition theorem is applicable to only those circuits that only have linear bilateral elements.

T Fad YR fguelia da ard uRay W arg g g1
4) Superposition theorem is applicable to only those circuits that only have non-linear bilateral elements.

Faa NI fguefia d@ I alkoy R arg g 31

Correct Answer: Superposition theorem is applicable to only those circuits that only have linear bilateral elements.
YIRUITRA T8g Had e fuaa 7@ ard ufoy R arp 8 g1
Candidate Answer: Superposition theorem is applicable to only those circuits that only have linear bilateral elements.

Y fgueia a aret uRuy W g g 81

QID : 912 - The algebraic sum of all the voltages around any closed path is

foeht +ff 5a uRoy & A &1 Aerfnda am &I 8l

Options:
1) Negative

4) Infinite

Correct Answer: Zero

Candidate Answer: Zero

A

QID : 913 - Which one of the following law is based on the principle of conservation of electric charge?

frafafa & @ o a1 Fom smdw & e & Rigid w ameifa 82
Options:

1) Kirchhoff's Current Law

fp<ars o1 fagaq ot faq

2) Kirchhoff’s Voltage Law

fHare &1 dees |

3) Ohm’s Law

3y &1 Fam

4) Coulomb’s Law

FHaE FI Fad

Correct Answer: Kirchhoff's Current Law
e &1 fagad urt Faq

Candidate Answer: Kirchhoff’s Voltage Law
fare &1

QID : 914 - The source resistance of an ideal voltage source should be

T 3ey diees] Fid BT Fid Uiy B ARl
Options:

1) Infinite

3d

2) One

o)

3) Zero

A

4) Greater than one

& 9 3w
Correct Answer: Zero

RS

Candidate Answer: Zero

RS
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QID : 915 -
What will be the voltage (in V) across resistor R, in the circuit given below?

Ay B 9 oRuy #, ufdY R, # THa @ A (V #) B geme

R,=200
VWY

- R, =400
—— 20V

Options:
1) 14.35

2) 13.33
3) 15.45

4) 12.33
Correct Answer: 13.33
Candidate Answer: 13.33

QID: 916 -
What will be the value of current (in mA) for the given
electrical circuit?

few are e # faead eTRT &1 7o (mA #) 31 gHeT?

100 0
50Q 200

Options:
1)0.11

2) 110
3) 0.101

4) 101
Correct Answer: 101
Candidate Answer: 101

QID: 917 -

What will be the value of current (in A) through the 6 Q resistor for the given circutt
diagram?

few o uigy & forw, ufclius 60 9§ av= gl fagd 9wy & #19 (A #) &=
Bham?

20 100

+ 40 60
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Options:
1) 5.45

2) 5.89
3) 1.54

4) 7.69
Correct Answer: 1.54
Candidate Answer: 1.54

QID: 918 -
Determine the Thevenin's Voltage (in V) and Thevenin's resistance

{in ©3) across the § O resistor for the given electrical circuit respectively.

Gw a1v gy # 6 0 ufclia® & 3R 9 FAr: a4 deed (V #A)
R e gl (o #) Fuifa &1

80 60
VWA VWA
40
20 an§ i__ZDV
+
4 +
OV-T :I_wv

Options:
1)5.72,1.71

2) 4.67, 2.24
3) 3.54, 1.01

4) 4.87, 2.09
Correct Answer: 5.72, 1.71
Candidate Answer: [ NOT ANSWERED ]

QID: 919 -
What will be the value of Morton’s resistance (in ©) between the
terminals A and B for the circuit given below?

A few o oftgy # fiee A 3R B & &9 & atee wfoRier
(3TEF #) & Hed =T gEm?

10 Q
WWAAY O A
2AC> 60 §en
20V
WWW OB
100

Options:
1) 5.65

2)6.11
3)4.32

4) 7.45
Correct Answer: 6.11
Candidate Answer: [ NOT ANSWERED ]
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QID : 920 -
Find the maximum power (in W) transfer from the source to the load
for the circuit diagram given below.

Ay fev v ofygy & @9 & @5 aF & g afEd TR
FT Ao (W F) B

RL
80 |
WWW WA
80

10V

e

Options:
1) 0.25

2)0.32
3)0.13

4) 0.42
Correct Answer: 0.13
Candidate Answer: [ NOT ANSWERED ]

QID : 921 - Which one of the following statement is NOT true about the magnetic lines of force?

0 & A S 91 By 9 B GeDig W@l & aR F TE TE 87
Options:

1) They attract each other while travelllng in the same direction.
T § o= B a6 Hrd T J TH g Bl DT Hd B

2) They behave like a stretched elastic string.

q TP 1 YATRIT f&ET Bt IRE TIER HRa o

3) They do not cross each other.

TP TW B! IR el A

4) They can pass through all media.

3 wft Hifgar & mery @ uild 8 wed g

Correct Answer: They attract each other while travelllng in the same direction.
T & o= & a1 B TG  Th G Pl b PR B

Candidate Answer: They attract each other while travelling in the same direction.

T & = & U rd T § T G Bl DT B B

QID : 922 - The relative permeability of paramagnetic material is

R yerf @t wrifde grTEar B &1
Options:

1) slightly greater than zero

T AT AT SR

2) equal to zero

Y & SRR

3) equal to one

T&H & SRER

4) greater than one

TP ¥ 3P

Correct Answer: greater than one
TP 9 P

Candidate Answer: greater than one
TP 9 P

QID : 923 - The SI unit of magnetic flux density is

YIPN GeTT TT BT THIHTE THTE __®
Options:
1) Henry

2) Tesla
o
3) Coulomb

D
4) Weber
IR

Correct Answer: Tesla
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Candidate Answer: Tesla

QID : 924 - Which one of the following is the formula of Intensity of magnetization?

T A I PT T e Bl AaaTHTgA R ?
Options:
1)

Correct Answer:
m

A

Candidate Answer:

Ni

)

QID : 925 - What will be the coefficient of self-induction (in H) of the coil, if the current changes from +4 A to -4 A in 0.10-seconds and the induced EMF is 16 V?

TH Faal R 4RT +4 AT -4 A T 0.10 s H geadl 8 3R OTHT URT STATE 16 V 8, ITDBT 3MTH-URTN BT 01w (H H) 1 ST
Options:

1)1.2

2)2

3)0.2

4)0.8

Correct Answer: 0.2

Candidate Answer: 0.2

QID : 926 -
Calculate the intensity of magnetization (in A-m~') in a material, if the
magnetic field strength of the material is 1800 Amp-m~" and the magnetic
susceptibility is 0.4 =107

IfE U g T Gahrr e AfFd 1800 Amp-m' & 3R duhr Hagaeiean
0.4x107° & l 3EehT Iaeh BT hl gl i A=A (A-m~ #) &I

Options:
1) 0.0058
2) 0.0072
3) 0.0061
4) 0.0035

Correct Answer: 0.0072
Candidate Answer: 0.0072

QID : 927 - What will be the produced mmf (in Amp-turns) in a magnetic circuit, if it has 100 number of turns and carrying a current of 0.2 A?

TR U 1 URkay T 100 o 3R 0.2 A 3 fagad urT 8, @ 39 uRkuy & b= THTATE &1 S (Amp-Turns T) 8TT?
Options:
1) 20

2) 40
3) 500

4) 200
Correct Answer: 20
Candidate Answer: 20
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QID: 928 -
Determine the critical current (in A) for a wire of a material that has a diameter of 2 mm
at 8 K. If the critical temperature for the material is 12 K and the magnetic field is

610 Anr’

TH & dl# 8 K Wema2 mm 1 9% sE s & Sifds aaae 12 K &3
TAE AT 6:c10° Am™ & & 3 Fifcew oI (A #) Faem?

Options:
1) 221.3

2) 214.4
3) 2325

4) 207.6
Correct Answer: 207.6
Candidate Answer: [ NOT ANSWERED ]

QID: 929 -
What will be the flux density (in T} of a material in free space, if the

field strength of the material is 2x 10° A-m™" and the magnetic
susceptibility of the material is 0.44x10727?

T Hod et & U 9Ty &1 Fler Tied (T &) &1 g, I 39
gery 1 Bes T T 2x10° A-n' & HR Tehr dag=elTedr
0.44x107° g2

Options:
1) 0.25

2)0.5
3)0.75

4)1
Correct Answer: 0.25
Candidate Answer: [ NOT ANSWERED ]

QID : 930 -
Determine the value of time (in sec) when an average EMF of 100 V is
induced in a coil of area 200 cm® with 100 turns, when it is completely

removed from a magnetic field of 30 T acting at right angles to the coil.

afE 100 V &1 3 STATE U 100 E1 i dhsell fiseratd 200 cn? &,
# R feram SITa & 3R 3% TAHIOT 30 T arel Saehra 4T O goTEa A geT
fearsmare, o s feufa # Taa 1 74 (sec #) Feifa i

Options:
1)0.4
2)0.2
3)0.6

4)0.9
Correct Answer: 0.6
Candidate Answer: [ NOT ANSWERED ]

QID : 931 - What is the average value of a DC voltage having a peak value of 25 V?

25 V % TRY Ted aTdl SR e $T 37 Ied T §ITT?
Options:
1)0

2) 17.73
3) 225

4) 25
Correct Answer: 25
Candidate Answer: 17.73
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QID : 932 -
The waveform given in the figure below is an example of

waveform.
=i faw are o 3 i g3 oder &9 TETETHT
3ETEAUT R
Options:
1) sinusoidal

2) rectangular
SAAIPR
3) square

42 sawtooth

gy

C9rrect Answer: sawtooth
gy

Cendidate Answer: sawtooth

gy

QID : 933 - The inductive reactance of a circuit is 60 Ohms when it is supplied with a 50 Hz supply. What will be the value of inductive reactance (in Ohms) of the
circuit, if it is supplied with 60 Hz supply?

T URTY B 50 Hz B Mgy 37 W IR ufafesar 60 e &) St 31 Afe 60 Hz @t safay <t Se ot IRt wfafssar (siter #) @ gime
Options:
1)72

2) 86
3) 94

4) 105

Correct Answer: 72
Candidate Answer: 72
QID: 934 -

Calculate the impedance (in() ) of the series RLC circuit given inthe
figure below?

A QU aw Agerr RUerll Uiy $ ufcers ST Ao (e #)

F|
200
1 n
1200 xH ,
R L C
(=)
Vv~ 50 Hz

Options:
1) 130
2) 120
3)13
4)12

Correct Answer: 130
Candidate Answer: 120

QID : 935 - Calculate the value of the quality factor of a series RLC circuit having resistance, inductance and capacitance of 30 Ohms, 27 mH and 0.03 mF
respectively.

TP Sl 3R.UA.H IRUY & UG HRS B Ged BT AT Y OAehT Ui, IRebed 3R &1ReT 30 Ohms, 27 mH 3R 0.03 mF §1
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Options:

1) 0.86

2)1

3)2.6

4)3

Correct Answer: 1
Candidate Answer: 1

QID : 936 - What is the bandwidth (in kHz) of a series RLC circuit having resistance, inductance and capacitance of 80 Ohms, 2 mH and 0.01 mF respectively?

TH §Tdl R.UA.H uRuy 3 SSfagy & Yo 3 70T (kHz T) B et uferly, IRebed SR o1l SHST: 80 Ohms, 2 mH 3R 0.01 mF Bl
Options:

1) 10

2) 20

3) 40

4)80

Correct Answer: 40

Candidate Answer: 40

QID : 937 - Calculate the time taken (in seconds) by the capacitor to get fully charged in a series RC circuit having resistance and capacitance of 40 kilo-Ohms and
0.01 mF respectively.

TP Jaan R uRuy, e ufeRly oiiR enfear 40 farel | 3R 0.01 mF B, & T Ju1ia &l gft e 3l 81 & foraen wmg (s o) Trme
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID : 938 - What is the value of line voltage (in kV) of a 3-phase star connected system having a phase voltage of 3.3 kV?
3.3 kV & Bl dieed a1d 3- ol ©R Frdes Ried & g dieesl (kv H) BT e 31 gR?

Options:
1)2.1

2)3.3
3)5.7

4)6.8
Correct Answer: 5.7
Candidate Answer: 5.7

QID : 939 - A 3-phase star connected system is supplied by a line voltage of 440 V. The value of phase current is 50 A. What is the power (in kW) consumed by the
system, if the current lags the voltage by 45 degrees?

T 3- Bl TR HA9eS YU BT 440V HT A1 alees] fadl 9iTdl ¢ | el ¥RT &1 Ted 50 A §1 afe fagad urT diees § 45 it § 0 7, o yomeht g1 faait fagaq
wfad @t @ud (kw H) grft?

Options:
1) 8.95

2) 24
3) 26.94

4) 47
Correct Answer: 26.94
Candidate Answer: 26.94

QID : 940 - What is the magnitude of reactive power (in kVAR) of a balanced 3-phase delta connected system having a line voltage of 400 V and a line current of
50 A and the phase difference between the voltage and current is 53.13 degrees?

T TR 3- ol Secl piaes Ul ! Tfafshar wfa &1 IR (kVAR o) T 81T fSRTepT g dieesT 400 V, TS fagad RT 50 A 3R diecsl 3R 4RI & s
53.13 f&iht &1 % iR 72

Options:
1) 0.2771

2)2.771
3)27.71

4)277.1

Correct Answer: 27.71

Candidate Answer: 27.71

QID : 941 - Which of the following is the dimension of inductance?

fafafad § @ S 91 IR &1 3H 87
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3)

4)
Correct Answer:

MZ

@

Candidate Answer:

QID : 942 - Which of the following is a type of recording instrument?
frofafaa & 9 o1 a1 ReiET IR &1 U UHR 82

Options:
1) Ammeter

2) Megger
R
3) Voltmeter

4) X-Y plotter

Te-aTg Wilex

Correct Answer: X-Y plotter
TeRy-aTg @iTex

Candidate Answer: X-Y plotter
TeR-aTg WileR

QID : 943 - In 'two-wattmeter method' of power calculation of a 3-phase balanced star connected system, what is the power factor of the system if both the
wattmeters show a positive reading?

3- Trel Tfeld WR FAdes YUIE! &1 e 70T IR 1 'Gl-aredier faftr & yoret o1 wfdd sRe a1 g1 afg A arerfier uififed dfe fewmd &2
Options:

1)0

2) Greater than 0 but less than 0.5

0 ¥ 3t Afdh 0.5 9 HH

3)0.5

4) Greater than 0.5 but less than 1

0.5 ¥ 31w Afes 1 & &1

Correct Answer: Greater than 0.5 but less than 1

0.5 ¥ 3 afes 1 I HH

Candidate Answer: Greater than 0.5 but less than 1

0.5 ¥ 3 afer 1 T HH

QID : 944 - A resistance of 75 Ohms is connected in shunt of a galvanometer, having an internal resistance of 25 Ohms, to convert it into an ammeter. What is the
value of current (in A) flowing through the galvanometer, if the total current in the circuit is 5 A?

T 25 3G & 3RS TRIY aTet TAarie Bl 3mfieR # geeH & 8 3% e H 75 g BT URIY ST ST 8] TamHie: I U gt fagad 4R &1 3o (A 7)
1 81, afe uRuy & ol fagad URT 5 A 82

Options:

1)2

2)2.5

3) 3.65

4)3.75

Correct Answer: 3.75

Candidate Answer: 3.75

QID : 945 - Which of the following is TRUE about analog multimeter?

T Heeiiex & aR # A § @ B9 9 %3 |9 72
Options:

1) It is a type of absolute instrument.

Ig ot IUFHR HT U UHR 7

2) It is a type of indicating instrument.

Tg $MiTd B T IUSR B

3) It is a type of recording instrument.

Ig RIS IUGRU BT T UHR g

4) It is a type of integrating instrument.

Tg Ueb UPHIPd e drall SUBRUI B |

Correct Answer: It is a type of indicating instrument.
Ig 3T HA araT IUSR 2|
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Can}iidate Answer: It is a type of indicating instrument.
Ig 3M1d B aTaT JUBR B

QID : 946 -

Options:

1) Anderson's

s

2) Kelvin's Double
Sqd

3) Maxwell's inductance
B IRPA

4) Wheatstone

Correct Answer: Maxwell's inductance
P IREBA

Candidate Answer: Maxwell's inductance
Cal

QID : 947 - Which of the following materials when used as the viewing surface of a CRO gives a reddish glow?

RSN & 3T 31 g & ¥4 & 1A g9 W 9 F I o1 91 vard ard 31 3 99 v 82
Options:

1) Zinc Sulfide with copper as impurity

T B ST o oI TbIes

2) Zinc Sulfide with silver as impurity

T} B Gl Jad i TS

3) Yttrium Oxide

sfeam sifaarss

4) Pure Zinc Sulfide

I e Tepiss

Correct Answer: Yttrium Oxide

3feaw sifrss

Candidate Answer: Zinc Sulfide with copper as impurity

T B ST g Folep Tebles

QID : 948 - Which of the following is TRUE about current transformers?

9 & 9 S 1 o fagad urT gRmTR & aR § T8 82
Options:

1) It decreases the range of AC ammeter.

78 Tl unfiex 1 T Y Herar g1

2) It decreases the range of DC ammeter.

Ig It wrfier &t T Y gerdr B

3) It increases the range of AC ammeter.

Ig Tl wafier Bt AT 5 Sgrar 3

4) It increases the range of DC ammeter.

Tg St uafier Y @i T B

Correct Answer: It increases the range of AC ammeter.
Tg wdl uafiex Bt @i &l Sgrar 31

Candidate Answer: It decreases the range of AC ammeter.

I T tafier ) e &) gerar g

QID : 949 - Which of the following produces breaking torque in induction type energy meter?
fafafad # ¥ B IRU-USR Soil Hier B a8 Id-3ATe01 BT ST Bl 82

Options:
1) Air Dampers
qrg Hgh
2) Eddy current

TSl fagad ¥Ry
3) Spring
&

4) Gravity

Correct Answer: Eddy current
wSl fagad 4Ry
Candidate Answer: Eddy current

TE! fagad urTe

QID : 950 - Which of the following can be used to measure frequency?

TR 1 AT & R e & & frae swdra f3ar o et g2
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Options:

1) Anderson's Bridge

T fos

2) De-Sauty's Bridge
et foret

3) Owen's Bridge
A foret

4) Wien's Bridge
& ot

Correct Answer: Wien's Bridge

o farr

Candidate Answer: Wien's Bridge

QID : 951 - The loss associated with the mechanical friction of a machine are called .

H2i ¥ Tife a¥ur I et g FEA @ |
Options:

1) eddy current loss

TST URT 81

2) mechanical loss

3) stray load loss

4) hysterisis loss
Aoy (Raehi) aif
Correct Answer: mechanical loss

RUECHIE]

Candidate Answer: mechanical loss

QID : 952 - For a 3-phase load balanced condition, each phase has the same value of

3-Thet HR Tgferd FUfd & o, vdes Tt o e A1 S0 giaT € 2
Options:

1) impedance.

PIREI0N

2) resistance.

PIRR]

3) power factor.

RIESEILIGE

4) all options are correct

ot ey wdl §

Correct Answer: all options are correct
ft fapea ot §

Candidate Answer: impedance.
gfcraer

QID : 953 - A short circuit test on a transformer gives 4

THPITR R S gfhe a0 TEM FRaTg |
Options:
1) copper loss at full load
R B
2) copper loss at any load
fopet off A R B g1
3) copper loss at half load
3fef A8 R BIR
4) copper loss at over load
3 TS W HIR g1
Correct Answer: copper loss at any load
fopdt +ff e W BIR

Candidate Answer: copper loss at any load

foet ot s R IR 1A

QID : 954 - Armature reaction effect causes flux to reduce with .

o 7 @ frad Ty omifeR ufafbar yuta & SR g # B S | 2
Options:

1) decreasing torque

e §Y

2) increasing torque

g4 §U

3) increase current

ol g% URT

4) both increasing torque & increase current
F6d g Sl SR Soelt % URT Gl
Correct Answer: increase current

gl g< e
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Candidate Answer: decreasing torque

ged gu 3ol

QID : 955 - The armature of a DC machine is made of .

DC A BT SR e S BT 8 2
Options:

1) mild steel

g =d

2) silicon steel

BRI}
3) stainless steel

4) cast iron

FoT dgT

Correct Answer: silicon steel
s

Candidate Answer: silicon steel
Y zed

QID : 956 - DC generators are designed to develop armature voltages not exceeding 650 V because of the limitations of

g & ¥ frg 91 & HRU DC T-ReR 39 TR ST S § a1 d 650 V F 3ifEih BT 3R diees [defyd 7 R b ?
Options:

1) field winding

&t arEfET

2) armature winding
3) commutator

4) starters
Correct Answer: commutator

Candidate Answer: field winding

QID : 957 - A step up transformer increases .

RY (U TigHIAR g & F foad gfg drar g ?
Options:
1) power

2) voltage
Cli

3) frequency
3gfel

4) current
YRT

Correct Answer: voltage

Candidate Answer: voltage

QID : 958 - It is economical to transmit electricity at a .

o & 5 w fSorel &1 TR A1 T g g 2
Options:

1) very high voltage

§gd 3 dlecdl

2) very low voltage

ggd PH dleedl
3) very high current

Tgd & R
4) None of the;e

EEEEIEE ]

Correct Answer: very high voltage
ggd 3=

Candidate Answer: very high voltage

¥gd 9 deedl

QID : 959 - Rotating magnetic fields are also used in 3phase induction motors rotor developing .

Ui R gU daPIg & HT IUENT 3 B aralt IR Aer Aex F +ft by oar § 5 g B @ frue e ava € 2
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Options:

1) eddy current

TS URT

2) voltage lag

Jleeel AR

3) load current

S YR

4) phase current

Tl YRT

Correct Answer: eddy current
TSt URT

Candidate Answer: load current
S URT

QID : 960 - One of the speed control methods of a 3 phase induction motorsis___.

3 Tl aTal DR HieR & 11 Feisror fafday & 9 THT
Options:

1) V/F control

VF o

2) stator current control

TR R

3) core loss control

g gl g

4) eddy current control

TSt YRy g

Correct Answer: V/F control
VF o

Candidate Answer: V/F control
VF

QID : 961 - A centrifugal switch is provided for disconnecting the auxiliary winding in a

9 & Q oo Tere aEfET f$ea o & O S &g mar Siar e ?
Options:

1) Capacitor- start motor

TTR=-gRY Hiex

2) Capacitor run motor

e Tferd Hiex

3) Reluctance motor

4) Hysteresis motor

e (et Ay

Correct Answer: Capacitor- start motor
TeTRa-gRY Hiex

Candidate Answer: Capacitor- start motor

TeTRE-gRY Hiex
QID : 962 - In a split phase motor, the running winding should have___.

fauToies et Hiex &, oM areht arfEn & BT AR |
Options:

1) high resistance and low inductance

I TRRIY 3R

2) low resistance and high inductance

5 ufeRiy SR 3= IR

3) high resistance as well as high inductance

I iRy SR 1y & I I

4) low resistance as well as low inductance

g ufoRty oiR wry &) Ty 9 IRea

Correct Answer: low resistance and high inductance
fm ufekly SR 5=

Candidate Answer: low resistance and high inductance

9 uferiy ok 3= R

QID : 963 - A reluctance motor
fraacy OeR

Options:

1) is self-starting

WG YR B aTeft HieR 7

2) is constant speed motor

s g Tfa F AR §

3) needs no D.C. excitation

D.C IS Y SRl 78! Bt &
4) all options are correct

ft ey wdt §

Correct Answer: all options are correct

Tt ooy Tt €
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Candidate Answer: all options are correct

Tt ey wdt §

QID : 964 - The speed control of a universal motor used for sewing machines is done by

RemE T & o IuT Y I areht =T Y gfadie HAieR B i e gRT A @t ol 8 2
Options:
1) friction

2) varying the resistance
PIRRPIGICTSE

3) tapping the field

&3 & U IR

4) centrifugal mechanism

Correct Answer: varying the resistance

URRIY BT TEadR

Candidate Answer: tapping the field
UG

QID : 965 - The power factor of a single-phase induction motor is usually.

THT-Urel ORUT Hex 1 2fRT 0N SHAR W BRI
Options:

1) lagging

affr

2) always leading
3) unity
TS

4) unity to 0.8 leading
TP 0.8 el

Co!-rect Answer: lagging

Capdidate Answer: lagging

QID : 966 - Hysteresis motors are suitable for

A (e Aier frads fore Iugad gt € 2
Options:

1) fans

el

2) blowers

ISR

3) sound equipment

i JuDHR

4) mixer grinders

[EERPIEER

Correct Answer: sound equipment
&g JuDHRT

Candidate Answer: sound equipment
& IUBRT

QID : 967 - A relay used on short transmission lines is,

BICT YR A8 § IUTNT g4 ara Rt §
Options:
1) reactance relay

2) mho's relay

g &1 Rt

3) impedance relay
gfcaren et

4) None of these

T A P T

Correct Answer: reactance relay

Candidate Answer: reactance relay

yfeerd fa

QID : 968 - The highest voltage transmission line starting from generating point is called

Jare foig § URY € Telt S dlees] YRV AR __ g @ |
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Options:

1) secondary transmission
REN)

2) secondary distribution

3) primary transmission

UTfHes FaRur

4) primary distribution

T fqeRom

Correct Answer: primary transmission
T HeRor

Candidate Answer: primary transmission
YA RO

QID : 969 - A 30 km transmission line carrying power at 33 kV is known as .

33 kv e areft 30 fHHt &Y T=Ror oz FEAN ® |

Options:

1) short transmission line

BICT FaROT ATRA

2) long transmission line
GEIREIUISIES]

3) high power line

I fad A

4) ultra high voltage line

Tgd S dlecs arell agA

Correct Answer: short transmission line
BICT FaR0T AR

Candidate Answer: short transmission line
BT aR0T ARA

QID : 970 - The insulating material for cables should be
Fad B ST BT F aTe FagaaRreh qrmh g =nfeu |

Options:
1) non-hygroscopic

2) non-inflammable

3) acid proof
37 et
4) all options are correct

Tt ey wgl §

Correct Answer: all options are correct
ff fawea ot §

Candidate Answer: all options are correct

it foped Tt §

QID : 971 - Name the equipment which runs an alternator.

I JUBRUT BT ATH T8 it 3rafeid Tard &
Options:

1) Motor

e

2) Generator

3) Prime mover

BIEERCR

4) Fan

erc))

Correct Answer: Prime mover
BIEERCR

Candidate Answer: Generator

QID : 972 - Electric strength in a cable is more on .

T daa § Igud g wel oiftis §ar g ?
Options:
1) layer on the conductor
el TR IRd
2) outside conductor
EIRUEINED
3) outer side of armouring
$ad & TeY AR
4) None of these
IS el
Correct Answer: layer on the conductor
il TR WRd
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Candidate Answer: layer on the conductor
TIIdd W IRd

QID : 973 - In places where acids and alkalies are present, the type of wiring used is .

T8 I 8T IR 31 3R &R i 810 €, I5T 5 YR B araieT o1 SuaT foa S & 2
Options:

1) PVC

2) TRS

3) VIR

4) Weather proof

T A

Correct Answer: TRS
Candidate Answer: [ NOT ANSWERED ]

QID : 974 - Replacement of wiring is not easy in which type of wiring .

g yeR 3! arfer & araf & wfawiitd Har e T8 §lar g 2
Options:
1) conduit system

2) Lead sheathed
o

3) concealed wiring
fodt g3 amfar

4) cleat system

Correct Answer: concealed wiring
it g2 amfe
Candidate Answer: conduit system

Afde! e

QID : 975 - ACSR conductor means

ACSR Teie 1 31f §

Options:

1) All conductor Steel Reinforced

A HeaeR Wia REwrle

2) Aluminium conductor steel reinforced
HSFR LI N3

3) Aluminium conduit steel reinforced

4) All conduit steel reinforced

3Hid e Wi N3

Correct Answer: Aluminium conductor steel reinforced
: iy e

Candidate Answer: Aluminium conductor steel reinforced
FHeacy Wid ¥E

QID : 976 - The value of supply voltage for 500 W, 5 ohm load is, )

500 W, 5 319 @I & for omgfef deest &1 oM 7l
Options:

1) 100V

2) 500 v

3)50V

4)10V

Correct Answer: 50 V

Candidate Answer: 50 V

QID : 977 - The most important factor with respect to lighting quality is

TSI TUIa & W1 Yo e qul Ui 3
Options:

1) colour

{1

2) glare

THH

3) illumination

4) uniform lighting
THYHM YDTR a1

Correct Answer: glare
THD

Candidate Answer: illumination
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QID : 978 - In ACSR conductors, the insulation between aluminium and steel conductors is .

T . TH.3R. It H, SegHiEE 3R 3TTT & dw! & o aTaRIgT BT e
Options:
1) varnish

2) bitumen
3) ceramic

4) No insulation is required

At P AaTTD T8l 8
Correct Answer: No insulation is required
fareft ot e oY sma=gHar el §
Candidate Answer: No insulation is required
foft 2t Jerep B} SaRTDBT TE &

QID : 979 - Which one of the given fuse is bigger ?

oA o 1 R 3w 921 g 2
Options:

1) DC

2) AC

3) DC or AC

DC a1 AC

4) AC and DC are same

ot ok R S e §

Correct Answer: DC

Candidate Answer: DC

QID : 980 - What is the function of choke in a fluorescent lamp ?

yfadie v 8 e &1 SR 1 g § 2
Options:
1) starting purpose
URY XA & fog
2) produce high voltage at starting
YRYA IR I dleed BT Il
3) improve power factor
e Tolies & YR FHRAT
4) minimize the power consumption
P FUA B GATH HIAT
Correct Answer: produce high voltage at starting
YRYT R I dleesl B Il
Candidate Answer: produce high voltage at starting
YRYA R I dleedl B Il

QID : 981 - In an electric heater, the metal case is connected to .

faorelt & Siex §, urq &1 Ugeb ad e gl g ?
Options:

1) Phase wire

ol dR

2) earth wire

sf AR

3) neutral wire

IR aR

4) none of these

T A BI Tol

Correct Answer: earth wire
3f ar

Candidate Answer: Phase wire
ol dR

QID : 982 - Which of the following is not an indoor lighting ?

9 Y B TP R P 3R BT M dTel ThT IR T © ?
Options:

1) Residence light

TR P ATF

2) Office light

T BT

3) Industry light
JENT BI A=A

4) flood light

ESEAGIE

Correct Answer: flood light
TS dlgc

Candidate Answer: flood light
RSEANIES


SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


QID : 983 - Carbon arc lamps are commonly used in .

PIa 31T T BT AR W fbas YT fobarr W 2
Options:

1) Domestic lighting

TR UDHTRT TaRAT

2) Street lighting

T&H o UPHI el

3) Cinema projectors

4) Photography
LA
Correct Answer: Cinema projectors

Candidate Answer: Cinema projectors

QID : 984 - Lumen/watt is the unit of .

wgiA/are fpue! 3TS 8 2
Options:

1) Light flux

YhTRT Tl

2) Luminous intensity
PEARIGIEG|

3) Brightness

THD

4) Luminous efficiency
JohRI U

Correct Answer: Luminous efficiency
Yo U

Candidate Answer: Luminous intensity
DT <ol

QID : 985 - Arc can be produced by ?

% gRI I 141 o TS § ?
Options:

1) AC current only

Fad AC URT

2) DC current only

%ad DC URT

3) Either AC or DC current

1 dr AC T fiR DC

4) all options are correct

it faded Ie! §

Correct Answer: Either AC or DC current
Tt AC a1 iR DC

Candidate Answer: all options are correct

it foped Tt ©

QID : 986 - A rectifier for welding has voltage/current characteristics as

AR ¥ R Ry & e w0 F dedoy/uR U SR 2
Options:
1) Drooping

2) Rising
Sedl g3l
3) Static

4) Variable
=™

Correct Answer: Drooping

Eandidate Answer: Variable
R

QID : 987 - The insulating material suitable for low temperature applications is .

HH AIUEM aTd Ay & U Suged Jue anElt__ 7 |
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Options:
1) Cork
Bl

2) Diatomaceous earth

3) Asbestos paper
T BT

4) 75 per cent magnesia
75

Correct Answer: Diatomaceous earth

Candidate Answer: Diatomaceous earth

QID : 988 - The method suitable for heating of conducting medium is

TTes [TegH B TH B P o I fafy H
Options:
1) Induction heating
RS A
2) Indirect arc heating
SHTTE 3T AT
3) Eddy current heating
TS YRT A
4) Radiant heating
GICE

Correct Answer: Induction heating
IR a1

Candidate Answer: Induction heating
IR a1

QID : 989 - The number of valence electron in boron is .

R T Yol 3ATH BI T fhal Bt § 2
Options:

1)1

2)2

3)3

4)5

Correct Answer: 3

Candidate Answer: 3

QID : 990 - The potential barrier acts as a barrier against the flow of: )

9 7 2 g yare & oee fava a141 U 9141 6 &0 § S et & 2
Options:
1) electron§ only

2) holes only
Pad

3) electrons and holes

goiaei SR fog

4) None of the;e
T B et
Correct Answer: electrons and holes

Candidate Answer: electrons and holes

X

QID : 991 - The type of circuit that does not need a coupling capacitor is .

RUY BT U GbR R e FuTRE & sraaed e gl 8, i #4g 2
Options:

1) resistance loaded

TieRTY U

2) travnsformer coupled

3) impedance coupled

gicraTeT gt

4) single-tuned

Thd-gHTAGR

Corrglct Answer: transformer coupled

andidate Answer: transformer coupled

X

QID : 992 - The plate current in a triode can be controlled by controlling .

7 o 3 o g e [l oris ® wie yRT S e o gwar g 2


SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


Options:
1) plate voltage
T Freee

2) grid voltage
IS A

3) plate voltage and grid voltage
e AR R g et

4) grid current
IEERIR

Correct Answer: grid voltage

irs A
Candidate Answer: [ NOT ANSWERED ]

QID : 993 - A transistor consists of .

iR o BaTe |

Options:

1) one p-n junction

T p-n S-M

2) two p-n junction

Gl p-n SaRH

3) three p-n junction

o p-n SaRH

4) four p-n junction

IR p-n SR

Correct Answer: two p-n junction
@l p-n Sa=H

Candidate Answer: two p-n junction
T p-n SERH

QID : 994 - The CE amplifier is most commonly used because of

79 & § fad HRU CE Yader IR R IUGNT fbar ST 2
Options:
1) less power gain
HY Sl TH
2) less output voltage
P ST3TYC qees
3) more power gain
oy
4) low cost
DY AT
Correct Answer: more power gain

3fIP Foif ATY

Candidate Answer: more power gain

3P Folf AT

QID : 995 - Synchronous motor shaft is made of .

JeadIfere AleR TTte fohed s+ 81t & 2
Options:
1) Alnico

2) Chrome steel

3) Mild steel
g 39Id

4) Stainless steel

Correct Answer: Mild steel
g id

Candidate Answer: Chrome steel

EIERS]

QID : 996 - When the voltage applied to a synchronous motor is increased, which of the following will reduce ?

TABINS Hex W RN dlecd & Jheg fbT oH W, 9 & & 1 gem 2
Options:
1) Stator flux
TR AR
2) Pull in torque
gl g Sl
3) Pull out torque
qd 33T STl
4) None of these
BIS el
Correct Answer: None of these
T A BIS T
Candidate Answer: Stator flux
WeR v
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QID : 997 - A synchronous motor has better power factor than an induction motor. This is due to

IR HieR F g & eaabTierd Alex $T W 0P SR 81T 7| T8 fhd SR A g g 2
Options:
1) Stator supply is not required to produce magnetic field

& BT TG FA & OTT Rex MYl Bt Snaxasmar Tg1 gidt §
2) Synchronous motor has no slip
Ja@Ifers Mer B Bis Ry T8t gt §
3) Mechanical load on the rotor remains constant
ReR R i drs GHM &1 IgaT &
4) Synchronous motor has large airgap

Tiex 7 g1 &1 981 ®IF BT §

Correct Answer: Stator supply is not required to produce magnetic field

& BT TG FRA & foTT Ve MYl Bt Saxadmar Tg1 gidt §
Candidate Answer: Stator supply is not required to produce magnetic field

Y1 & Bl FATET B P (7Y W Y BT Mazadal T8l el

QID : 998 - When the field circuit of an unloaded salient pole synchronous motor gets suddenly open circuited, then

e 3alS BT T T $a Jeadbiicie AleR &7 & URUY /e | gadl g, [
Options:

1) the motor stops

HieR §¢ 8 R 8

2) it runs at a slower speed

I g Ty W Tt @

3) it continues to run at the same speed

g JHF TS W ITT IRY @A 8

4) it runs at a very high speed

Ig Sgd I= T F el ©

Correct Answer: the motor stops

HieR ¥¢ 8 Rt 3

Candidate Answer: it continues to run at the same speed

g UM T W I SIR) @t §

QID : 999 - The resultant armature voltage of a synchronous motor is equal to the

eI Hiex T uRuH! 3R dicew fbud SRISR IaT g ?
Options:

1) vector sum of Eb and V

Eb 3TR V &1 Ife=r dea

2) vector difference of Eb and V

Eb 3TR V &7 Tfewr 3R

3) arithmetic sum of Eb and V

Eb 3R V T 3icrforfaa

4) arithmetic difference of Eb and V

Eb 3R V T SIHTi0fad SicRk

Correct Answer: vector difference of Eb and V
Eb 3R V &7 Wfewr 3R
Candidate Answer: vector difference of Eb and V

Eb 3R V &7 I 3R

QID : 1000 - The armature current of a synchronous motor is minimum when operating at

TIHIS HeR B SR YRT a9 a9 gl § 517 g, R gt g |

Options:
1) unity power factor

2) 0.707 power factor lagging

0.707 e ToTiep AR

3) 0.707 power factor leading

0.707 =Ifad T[uries ST

4) zero power factor leading

T[T Xifad TOTid ST

Correct Answer: unity power factor
RIESRILIGD

Candidate Aqswer: unity power factor

RIESRIIGT
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